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1) Put the verbs in brackets into the present simple or present continuouns.
Richard 1) ………………………………… (work) at the bank. Every morning he 2) …………………………………..
(get) up at seven o’clock, 3) ………………………………… (have) breakfast and 4) ………………………………….
(catch) the bus to work. He 5) …………………………………. (go) to the office every day but now he 
[bookmark: _GoBack]6) …………………………………… (go) to a meeting. 

1) Reading  Read the text. For questions 1-6, mark the correct answer a,b or c.
PINGUINS
There are seventeen different kinds of pinguins that live in the seas and oceans around the equator and south o fit. Some live near the Antarctic, others live on some islands near South America, southern Africa, Australia and New Zealand. They all belong to the bird family. They can swim very well, but they can‘t fly. 
	The Galapagos penguin lives in the waters of Galapagos Islands near South America. It is about 45cm tall, and weighs about 2.5kg. Its body is black and white with black wings or flippers. On black head there is a thin white line, which runs from throat up to its eyes. Its bill (another worf for beak), is black, pink and yellow. The penguin’s legs are very short. 
	Galapagos penguins eat small fish. They live up to twenty years. There are now only about 1,000 pairs of Galapagos penguins in te world. 

1) There are twenty kinds of penguins. 
a) Right		b) Wrong	c) Doesn’t say
2) Penguins belong to the fish family.
a) Right		b) Wrong	c) Doesn’t say
3) The Galapagos penguin isn’t very tall. 
a) Right		b) Wrong	c) Doesn’t say
4) Its bill (beak) is orange, black and yellow.
a) Right		b) Wrong	c) Doesn’t say
5) Galapagos penguins live in large groups.
a) Right		b) Wrong	c) Doesn’t say
6) It lives up to thirty years. 
a) Right		b) Wrong	c) Doesn’t say



